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KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name

KVS PRT 28 FEB SH1

Exam Date & Time

28-02-2023 09:00:00

Subject : GE_Q01-Q10_PRT28FEBSH1

Question ID:- 1

Rearrange the following parts in correct order to make a meaningful sentence.
(a) for the distribution of food

(b) 1is to create an infrastructure

(c) the goal of public distribution system
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Options:-

.1, Option ID :- 1,
« 2, Option ID :- 2,
. 3, Option ID :- 3,
. 4, Option ID :- 4,

a)

— e
A

d)

d) to the poor and the needy

Answer Given:- 3, Option ID : -3

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.

The police arrested the thief.

(1) The thief had been arrested by the police.

(’)

s

(

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,
. 4, Option ID :- 8,

) The thief was arrested by the police.
(3) The thief is arrested by the police.
) The thief was being arrested by the police.

Answer Given:- 1, Option ID : -5

Question ID:- 3
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Fill in the blank with the correct preposition.

The old man is yet to recover his illness.
(1) with

(2) of

(38) from

(4) off
Options:-

.1, Option ID :- 9,
« 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.
I shall talk to him as soon as I have finished my work.
(1) Present Indefinite

(2) Present Continuous
(3) Present Perfect
(4) Present Perfect Continuous

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

« 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
My teacher said to me, ‘If you don’t work hard, you won’t pass.”
(1) My teacher told me that if he did not work hard, he would not pass.
(2) My teacher told me that if I did not work hard, I would not pass.

; My &1

Options:-
.1, Option ID :- 17,

« 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6
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Identify the part which contains an error.
A good employee/is one/which is/punctual and efficient.
(1) (N ©) (4)
Options:-
.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Choose the word nearest in meaning to the given word.
DEARTH

(1) scarcity

(2) exaggeration
(3) pettiness
(4) poverty

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

Choose the word opposite in meaning to the given word.
JUDICIOUS
(1) emotional

(2) indiscreet

(3) foolish

(4) talkative
Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9
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Identify the part of speech of the underlined word.
Rakesh is bent upon having a fight with his neighbour.

(1) Conjunction
(2) Noun

(3) Preposition
(4) Pronoun

Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Ident-ify the underlined clause used in the given sentence.
We asked him many questions when we met him.

(1

Noun Clause

5]

)
(2) Adjective Clause
(3) Adverb Clause
(4)

4)  Principal Clause

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Subject : GH_Q11-Q20_PRT28FEBSH1

Question ID:- 11

Frafafea iy st earyds uget 36 OF SMfd USH &1 eie ST difa

ga-glamsi % sfafaa faam 3 s gad 98 =6 g6 § € ag sge fafy € - sea & ufa @ifs
g | famm 3 T &1 U ahET iR seeie gfe & €, foreh @ siy-favara oiR srear &1 Fer
e S @ € | SToi T Wl s B W@ B | T 3 v i 9o, 3taa-orfad w1 wen &
$iR aa fagemr & sneR W frend frarem =1 gfesn yem foen § 1 oy 7 Sfias & ydis 1eq &l
RO S HI HUE W w30 " dra forzn 2

T A ST S i fan

(1) uR=g =t

(2) foam = sfawrr s

(3) SfaA % U Uee] hl HRU SR FHE F FHRT T ILEH
(4) TA-39A AR - w1 F9 9 Fh
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Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
« 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Frefefiaa Tersr it sargE® Uget 3H 9T MG U9 o1 Weleh I0T aifad |

FE-gfrel ¥ e e 3 S T TS e o 9 § 78 o fif & - S o A
v | fagm 3w o o aehETe iR e gfte € €, fores s ofu-favarg S s o e
el <1 @ & | SR faFd W e 1 @R ) faee 3 9 i ge-awe, sfee-efE w1 wwan &
SR =R fergerwor o smer o Frerd feterm o1 gfteehion YeM fora & | 5% 3 Siiad & Weish Y] i
R i FI FUE W FTH AW Feq i foaan )

o A g wA-w s A & &
(1) gfaursHs ared
2) SitEd % ufa wifehe ggfa

(
(3) HEREA ®BH
(4) Eefifas

)
)
Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,

« 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 13

Frafafiaa iy &t earyds uget 30 OX SNUfd UYA T Ueie ST g

ga-gfawsii % sfafaa foam 7 S qad a2t =is 76 < € 9 sgea iy € - Sem & 9fq afhs
vgfa | fasm 7 7= &1 Us adhETa S e g & €, forass @mo siy-favarg &iR sred & Heam
e o1 &1 & | TR fagra W o &1 W €1 faae 3 v i g e, 3fEa-enfad 1 wad
i aega fagemr & sneR W Frerd frartem =1 gfiesnron yem foen & 1 oy 3 Sfiaw & ydiss ueq &
FHRO ST FE T FURE W FHHL 3 " dra oz &

stufavary iR ST 1 Far fFgs FRv g2 W R 2
(1) =HcHR

(2) faan

(3) TEHETT iR SEEfE gfe

(4) SR gftesmm

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
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. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

‘o7 & fou gan o sl T H Y@ifed uss |

(1) dl ®R®

(2) wH FRE

(3) = HEH
(4) HYSH HH
Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

T F Y W ST T ¥
(1) foeett - fafeer

(2) -

(3) @ - @H
(4) T - egEr
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16

it % STTYR R ST s g #
(1) B -BE

(2) U©-HE

(3) SAFHM — A
(4) T - gt
Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,
. 4, Option ID :- 64,




Join Telegram Group "HaryanaJobs.in"

Answer Given:- 1, Option ID : -61

Question ID:- 17

"l 1 e Tien” SR 1w Sty €
(1) T § =
(2) % QW HE A

(3) TSR A foer

(4) 3T HH AR G QI
Options:-

.1, Option ID :- 65,

« 2, Option ID :- 66,

« 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

‘gait’ veg 1 g Ve R ®

(1) @1
(2) e
(3) =™
(4) TG
Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

Trefafad facmet weg i § o/1d & -
(1) 3e9d — AL
(2) eIy - T

(3) Sy - |l
(4) Herd - HaH

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
« 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20
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‘T FB TS ¥ A % Y@ifehd ¥es H WA R -
(1) fFv=FEES
(2) TreEgeT=s
(3) URTETEEH

(4) HAYETEh
Options:-

.1, Option ID :- 77,

« 2, Option ID :- 78,

. 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_PRT28FEBSH1
Question ID:- 21

Which state won the National award for Institutional Empowerment, 2022 under the category
Badhamukta Vatavaran ke Srijan Mein Sarvashrestha Rajya award ?

(1) Tamil Nadu

(2) Assam
(3) Kerala
(4) Maharashtra

ST AT o G H Ha 9 W' Gl & S S5l gue THTeRHE (EEINT HRIfHEi) 2022
1 T G ford T2 = St ?

(1) dfHerrg

(2) 7=y
(3) A
(4) e

Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

Which Book/title was awarded the Bal Sahitya Puraskar 2022 in Gujarati language by the Sahitya
Akademi ?

(1) Mummy Mane Cycle Avadi Gai.

(2) Dad...Dad...Dad...
(3) Pankhimelo.
(4) Khiskoli Ne Computer Chhe Levu.
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wifeed STeRTeHl BRI TS W H & 2022 %1 e Wifeed TR forw geer/sfidE @ uee e e 2

(1) #=t 97 "Efra et my

(2 Bm.¥e.E=m.

(3) e

(4) TegsE 3 F © g
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,
« 4, Option ID :- 88,

Answer Given:- 1, Option ID : -85

Question ID:- 23

Match List - I with List - II and select the correct answer using the code given below :

List -1
(Awards)

(A) Dronacharya Award

(B) Dhyanchand Award for Lifetime
achivements in Sports and Games

(C) Arjuna Award

(D) Rashtriya Khel Protsahan Puraskar

Codes :
(A) (B) (O
m @O av)
2 d @ Iv)
(3) av) ()
(4) (1D av) (@O

List - 1T
(Year in which the Award was instituted)
() 1961
(I) 2009

(II) 1985
(IV) 2002
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o - 1o Al - L H feqm IS $iR 1= S0 70 =i o1 9 3 g 9el ST 1 =97 Hifay |

el - 1 Tt - 11
(TTERTY (JEEhT ITH T o1 =)
(A) EromaET ERR ) 1961
(B) WA-%¢ H @Ehesd fHEH & fau eAr=g JIEh (I) 2009
(C) o1SA JWah (I) 1985
(D) L Ed Yiedrad TR (IV) 2002
S

(Aa) @B (© (D)

1 @ @) 1@ ()
(2 1@ @ av) @y
3 V) {n @ @
(4) Iy @) @ @
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89

Question ID:- 24

Who was appointed the Prime Minister of Italy after the General Elections held in September
2022 ?

(1) Enrico Letta.

(2) Giorgia Meloni.

(3) Matteo Salvini.

(4) Silvio Berlusconi.

Toamr, 2022 5 gU 9 FAEI & 916 32ei 1 wuEHEst ol e fm w2
) TARER =
LSRRI
(3) wifedr wifear
(4) Tafeasn seeer
Options:-

.1, Option ID :- 93,

« 2, Option ID :- 94,

. 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25
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Where was the ‘Cities Climate Leadership Group C 40 World Mayors Summit’ held in October
2022 ?

(1) Oslo

(2) New York
(3) TParis

(4) Buenos Aires

(1) e

(9 =P

(3) ufm

(4) =TH STPRY
Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Which is the name given to the thin outer boundary that encloses a cell ?
(1) Nucleus

(2) Cytoplasm
(3) Cell Membrane
(4) Stomata

ek I 1 UG I JTet Taelt sedl T 1 Fedm! & 2

(1) = (FlFTa)
(2) HEERH
(3)  =hifemeRr fereedt
(4) FEHA
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27
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Who wrote the book “The Social Contract” which is believed to have inspired the revolutionaries in
the French Revolution ?

(1) Thomas Hobbes

(2) John Locke

(3) Jeon-Jacques Rousseau
(4) Montesquieu

et wifa | swifaeiEl &1 URa & arel gwe e dea wicse” frae ford ?
(1) o9 Eed

(2) A dlh
(3) S-St &I
(4) HwR
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,

. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

2

Question ID:- 28

Under which of the following Parts of the Indian Constitution the provision related to maternity
relief is written ?

(1) Fundamental Rights

(2) Fundamental Duties

(3) Directive Principles of State Policy
(4) Citizenship

A % Gfau™ & form am § wgfa wafaen w1 ssy fam mn g2

(1) ¥ AfHdR
(2) T FxA
(3) T & Hifa Fdemr aa
(4)  AFTRERA
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29
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Which of the following Union Territories in India has the highest percentage of households using
clean fuel for cooking according to National Family Health Survey 2019-21 ?

(1) Chandigarh

(2) Puducherry
(3) Lakshadweep
(4) Andaman and Nicobar

T URER WEeT A& 2019-21 % TR 9Hd & {69 99 T &3 & = %1 @M UM o = ToH
T WANT T H AieE Hqaifes 2 2

(1) wEhE
(2 g
(3) @M

(4) ofeAM AR FER

Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

Which among the following is a Kharif crop ?

(1) Barley

(2) Mustard

(3) DPeas

(4) Jute

Frafafaa 5 # % & wHa Bl® Hi 82
(1) =n

(2) TEl

(3) HXR

(4 "
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PRT28FEBSH1




Join Telegram Group "HaryanaJobs.in"

Question ID:- 31

How many 5’s immediately preceeded by ‘4" but not succeeded by “2" are there in the following
sequence ?

5205 4214531335453 45105

T

Mv

e U e S s
\f: ‘\9 S
(5% N —N [ Y

Trferfas der sa # U9 fohdq 5 € S Tohed veet ‘4’ Bl fhg Ie d 2/ 9 71 2
520542145313545345105

1 1
(2 2
(3) 4
4 3
Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

Ankita starts from a point ‘P’ and walks 15 metres towards North then takes left turn and walks
20 metres and then takes right turn and walks 25 meters. She finally takes right turn and walks
10 metres and stops at point “Q’. Reema also starts from the point ‘P’and walks 5 metres towards
East, takes left turn and walks 40 metres to reach point ‘R’. In which direction is point ‘Q" of point
"R

(1) North
(2) South
(3) East
(4) West

siferar ‘P’ foig § 9o & o ¥ i S| FT 3R 15 HeX Ferdt €, fF 98 a9 R =9a & o 20 e
oAl & a1 Rt SRl SI greR 25 Hiet Ferdl & | 37 H o8 g SR gae & 37K 10 HieX =erd € 3iR ‘'Q’ foig
T Ehdl & | T o P fig & =er 9% o gd i ST 5 et werd 8, e o oi qeent R fiig Woagsa
% T 40 Hiex =erd 21 fdg ‘Q foig ‘R | fra fewn 6 82

() =W
(2) =feo
3 T
(4) W=

Options:-
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.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

P,Q R,S T, U Vand W are sitting in a line facing east.

‘R’ is on the immediate right of 'S", “Q’is at an extreme end and has “T" as his neighbour. V" is
between ‘T" and ‘U’ . ‘S’ is sitting fourth from the south end. There are two persons between ‘P’
and ‘U".

Who is sitting on the immediate left of "W’ ?

() P
2 Q
3) R
4) S

P,Q,R,S T, U, V3R W Yd whi 3R g F¥ch Tk e H o2 & |
‘R, S’ % UHEH gl 3R &1 'Q, Uitk % U SR W ¥ SR T SHHRI 9 8 1V, ‘T 3L’ Fag H &1
‘s, el IR 9 A9 T W Se 1 P 3R U & Wi" S =afam W9 §

‘W’ % UeheH a4 3R HiH 9l € 2
(1) P
(2 Q
(3 R
(4 S
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statements numbered I and II each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q: What was the age of Sumit in the year 2021 ?
Statement I:  Gaurav is five years older than Sumit.
Statement II : Sumit was born in the year 1999.

(1) The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while the statement I alone is not
sufficient.

(3) Both the statements I and II together are necessary to answer the question.
(4) Both the statements I and II together are not sufficient to answer the question.
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= wek wed fean T & forsh are @1 e 1R 1 fou u € 59 | e # 39 St &t T €1 e
ol wifSe o 1 978 ST 99 1 3 84 & fou wafa &2

T: o9 2021 H gHd 1 31 =0 o7 ?

wOT1:  Tvd giag | 599 921

WO I :  GiHd o1 S oY 1999 H g1 o7

(1) SR 1 3Thct T¥9 1 39 27 & fau yafe € Siafe sher 11 oohel 7 921 8 |
(2) HYUA II 3Rkl Y99 1 ST 24 & 0 9o & Safes e 1 o7hel var 921 &
(3) YT I SR II fHeTRt 499 %1 ST &4 = ey s7maegs B

(4) HAT 1 R Faerwt 999 1 3 3 & foe afa = 7

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
. 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35
In the diagram given below, square represents skilled, circle represents optimistic, rectangle

represents rural and triangle represents tactful persons.

11
10

14 N

15

12

How many urban persons are skilled, optimistic and tactful ?
(1) 6

2 9
(3 7
(4) 4
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19 fou U et H, ol qa, g9 SARETE!, A AH0 G S SHaen- e SAfwEl 1 girfee Hd
e

11
6 10
9
14 N
15
12

TR YLl 2afer 38, SMMETE] 3 HERH-FHe & ?
() 6
2 9
3 7
4) 4

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT28FEBSH1

Question ID:- 36

Which of the following is not a popular example of web browsers ?
(1) Mozilla Firefox
(2) Microsoft Edge
(3) Google Chrome
(4)  Acrobat Reader

frafafea 5 9 =4 91 99 IR (webbmwsers)ﬂ@ﬁmmqﬁ%?
(1) HIfSTen FRRHTE

(2) HEHEERE TS
(3) T M

(4) TR T
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
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. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which type of network are generally configured in our computer labs where a printer can be
shared by 10 or more computer systems ?

(1) PAN
(2) LAN
(3) MAN
(4 WAN

TR FF ofa H, ST U X 10 91 309 sifers wrepes oy =61 9ren 2 el 8, AR W R wR
] Jerh e 2l § ?

(1) i TUA (PAN)

(2) TATW (LAN)

(3) YT (MAN)

(4 =TT (WAN)
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

« 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38

Which types of characters should we use in our password to make it a stronger one ?
(1) Only alphabets

(2) Alphabets and numeric digits

(3) Alphabets and special characters

(4) Alphabets, numeric digits and special characters

Y 3799 qE9S hi ﬁ%WW%WWW%W(cI1aracter)$TWT$?ﬂTﬂT%"{?
(1) ae o

) & iR He

(3) v R T9E HERT

(4) =, HEATd SR T HIEFRY

Options:-
.1, Option ID :- 149,
« 2, Option ID :- 150,
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. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39

What role is played by a switch in computer system ?
(1) Used as an input device

(2) Used as a computing device

(3) Used as a networking device

(4) Used as an output device

Frget foen § feg (switch) F1 yfer fFHumr € 2
(1) T z7qe fearsy % w9 § g2 fFn s 21

(2) U Frfdn feary % w0 § wHm & s 2
(3) U eafdhn feary % w9 § ydm fFw s €
(4) U ARYE feary & &4 § yAM foman S 2|

Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40

One of the popular online payment method, UPI stands for :
(1) Unified Payments Interface

(2) United Payments Interchange

(3) Universal Payments Interchange

(4) Uninterrupted Payments Interface

AR SiaEa yam (UHe) fafy 9, gdterd (Upn =1 o1 7
(1) FAIFES GHe 5eThE

(2) FEeE THey fev
(@) s i e
(4) FEILE UHIH THRY
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157
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Subject : UL_Q41-Q55_PRT28FEBSH1
Question ID:- 41

Which of the following statements is correct ?

(1) Development refers to quantitative changes.
(2) Growth and Development go hand in hand.
(3) Growth refers to qualitative changes.

(4) Development is a life long process.

freifera o & & |1 YA W& €7

(1) o™ 1 9a4 Faet g iedT 9 2
(2) dfg iR fasm SH Tg-a1 Jerd 2

(3) gfg = TR YU UiEdT § 7

(4) Toorm e Siam = whwan 2

2

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

Approximate age of infancy stage is
(1) from conception to three years,
(2) from birth to 2 years.

(3) from1 to 4 years.

(4) from 2 to 5 years.

JrreTaEeT i STHI ST 0 § 7
(1) TaigE | o= ad

(2) SHH2TYTH

(3) 1798438 dH

(4) 2=°d H599dH

Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43
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Read the following :
(A) Child is learning physiological stability.
(B) Child is learning to pay attention towards things, persons and events.
(C) Child can imitate the actions of others.
At which developmental stage the child is ?

(1) Infancy.

(2) Early childhood.
(3) Later childhood.
(4) Adolescence.
frreifera =1 afe

(a) aIeTeh afeeh T Hig @l )
(b) TeTeR =isi At SR HeAEl i SR oI & o w
(c) =T 2= =AfHal Fi el it 7wa # gFa T

A UG % AR W etk foamm % g = H 72

(1) rEmeE=n

(2) eWfE SreaHT

(3) U S

(4) TorvirTeRen
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44

At which stage of development intellectual skills and concepts necessary for civic competence
develop among individuals ?

(1) Childhood.
(2) Adulthood.

(3) Middle childhood.
(4)

Adolescence,
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forpma =t fopm stareen § =afwal # Amifier sifieran & fau sifea 9 sevas gig-ive iR sraymomd
TereRfaa il & 2

(1) e
(2) Y
(3) HEAFRISHRA
(4) TeruirrEEen
Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45

Identify the correct statement :

(1) Accommodation refers to easy absorption.

(2) Assimilation refers to enlargement of thought process.
(3) Accommodation and Assimilation are the same.
(4

Equilibrium refers to the balancing process.

e e Y=Y ;

(1) THH =1 aead gy 1= § 1

(2) STHETERRY % awqd feam sk % veereq @ €1
(3) HHSH IR SACHHGIHLY SHI Tah HHME 2 |

(4) T 1 A S wfud A i gfEe 9

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Question ID:- 46

In which age group children have keen sense of right or wrong ?
(1) From 5 to 8 years.

(2) From 9 to 11 years.

(3) From 12 to 14 years.

(4) After 14 years.
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Freifera H 9 form o1 we % wraehl H TEl 1 e 1 9 Wad 2l © 2

(1) 5a9H8aY

(2) 9¥113Y

(3) 12%14aW

(4) 14 94 % @1E I Y
Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

In order to develop a strong sense of self respect and sentiment of self regard among children,
what the teacher should not do ?

(1)  Children must be encouraged to do their work independently.

(2) Children must be given proper love and affection coupled with adequate sense of security.
(3) Children’s freedom in day to day work must be restricted.

(4) Due respect must be shown for the individuality of the child.

e | 270 G AR STea-YTaq] &1 Yoe vd fasiag F & fau e1emass 1 3201 18l 6 =1feu ?

(1) STershl 1 AFarda: Wad 9 W 70 ®E FH3H % fou gedfed fmn s e |
(2) @l B i HRa o e fasiad i g 3w 9 iR e fom s =nfew

(3) <fek T H Srcrshl i Tdsar sifarda; wfdsfi S e )

(4) @ H SRRl o WTE & Ufd T T S S Fie |

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

Which one of the following is not a characteristic of a particular type of emotion ?
(1) It has its association with some basic instincts.

(2) It exhibits intensity of feelings.

(3) Itis independent of specific physiological changes.

(4) Itis aroused as a result of perception.
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frreifena © & s forelt fadie wepR o WA =t fardom =7 &2
(1) =9 Tre=d Hiawm gom gagats S e

(2) =EH wEAEl w5 e yefid @ ¥

(3) e fafew e fFamers aftadi 4 @ds 2 g1

(4) o8 YA % FoRawd 300 Bl 2 |

2

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

Mohan is an active member of a ‘peer group” and has developed an attitude and behaviour of
indifference towards family members. It is an outcome of :

(1) gang influence,

(2) family neglect.
(3) primary socialization.
(4) secondary socialization.

T Tt ‘ Tuemeia T9g’ &1 92T § iR ufER % "eeil & i 38 sedHa &1 sifiafa @R =aer
faepfaa 21 o 81 = Frevifera § 3 forgam aftom 22
(1) 1 % goE

(2) YFERH e

(3) WrfHeR WIS

(4) Todiaer AR
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 4, Option ID : -196

Question ID:- 50
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Which of the following statements is/are correct ?
(A) Biologically life begins at birth.
(B) Legally life begins at conception.
(C) Biologically life begins at conception.
(D) Legally life begins at birth.
1) (A)and (B)
(A) alone
(C) and (D)
(B) alone

ra

(
(
(3
(

e i e i

oy

freifera ® | A QU Fue w&@ 82

(A) Sifoes gfE | Siiam s &% THT I & 7
(B) fafera: Sfam o1 Jury iy & 9 ST
(C) ifersr gfe & Sia vium & g9 3Ry Bar g |
(D) fafera: S 1 Uy 57 %999 § 31 2
(

1) (A) ¥R (B
2 %ﬂa( )
(3) $R (D)
(4) éﬁ'a (B)
Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

Which one is not true about creativity ?

(1) Creative thinking can not be a closed thinking,

( Creativity is not universal.

(3) Creative expression is a source of joy and satisfaction.

( Creative abilities are capable of being nourished and nurtured.

geFiter & 9R 8 i § 9§ %0 et € 7

(1) Forras & Haa fHaa 72 3 96 7

(2) G HH HEHIHF el 2l g |

(3) GRHE HAfveafs g &I Gy 1 Eid g1

(4) RIS AT it SR gooiad i S Hehdl & |

Options:-




Join Telegram Group "HaryanaJobs.in"

.1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

Which one of the following, do you think, is among the ideals of a democratic society ?
(1) Powerful leadership.

(2) Obedient fellowship.

(3) Respect for enlightened individual.

(4) Belief in the opinion of the leader.

et gfe H, Frifera | F o sliehditae 99 % oS § 2

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

Which of the following can not be a test to measure intellectual ability of a learner ?
(1) New learning and use of past learning.

(2) Meeting the demands of a situation.

(3) Making sound ethical judgements and moral decisions.

(4) Solving problems confronted by her/him.

freifera | 9 =0 eAferaerd] =t difgs rad & A9 1 Td40 T4 2 TR 8 2
(1) a9 s SR yaeifas Atem & g3

(2) Teafa =t |l = QU &G

(3) g ifara fota & &R Afae fofa &

(4) ATFTHHRAT % FHY AT TS T FHAH

2

Options:-
.1, Option ID :- 209,
« 2, Option ID :- 210,
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. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

Question ID:- 54

Good schools should be concerned with development of children which mainly includes
acquisition of :

(1)  skills required by a healthy person.

(2) skills required by the nation.

(3) knowledge of the subjects.

(4) lifeskills.

I TFell ol ATt o faeR W A o TifeT oy g Feifed § § forden s it @ 2
(1) TEu-=fe % fou sfad s

(2) B feru Aufed wwa
(3) forwdi = 3
(4) SffEA - e

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55

Garima is a student who begins to imitate others and remembers events and moves from reflexive
actions to intentional activity. She is at which stage of cognitive development as per Piaget’s
stages of development ?

(1) Sensory - motor.

(2) Pre operational.
(3) Concrete operational.
(4) Formal operational.

TR A B 31 SATEA] I THRA FE ATl & AR Gier Rael § o s R siHaEe w5
e foraTd iR FEer w1 e Tt €, 9 e o s & o - =0 % SER 9 daEes fawn %
frg = 4 €2

(1) Hadt U
(2) Yd Hiskaras
(3) Hd Hicharca®

)
(4) i dimacs

Options:-
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.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Subject : UTL_Q56-Q70_PRT28FEBSH1
Question ID:- 56

The life centred approach to curriculum development ignores the principle of :
(1) Learning to know,

(2) Learning to do.

(3) Learning to live together.
(

4) Learning to solve problems.

e i d Sem g sarm o fagra & SUsT I )
(1) <A % ferg st

(2) A = faw sifermy

(3) ¥ @ = faw sy

(4) T GHIYH & fag i

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

Which one of the following is an example of “Assessment for Learning” ?
(1) Assessment of homework.

(2) Anecdotal records.

(3) Scholarship examination.

(4) Annual examination.

freaferfiad § & @ ' sifapry & o eTrher | &1 U 3SR § 2
(1) TEFr & She

(2) SURAFTH® HAOE
(3) wEghwE

(4) afiies adtan
Options:-

.1, Option ID :- 225,
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« 2, Option ID :- 226,
. 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Minimum Levels of Learning was brought with a view to :
(1) improving teacher training,

(2) improving quality of learning.

(3) improving classroom environment.

(4) improving infrastructural facilities in schools.

2AfERTH T =IFAH T o ST § A TAT o
(1) 31eamyes Hiverm § Gom o=
(2) e o § GHR e
(3) HeT e H GUR
)

(4) Tommeri § srerEEATE glags § gun w1
Options:-

.1, Option ID :- 229,

« 2, Option ID :- 230,

. 3, Option ID :- 231,

- 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which one of the following is not a role of teacher in experiential learning ?

(1) Approaching the learning experience in a positive, non-dominating way

(2) Helping students identify an experience in which they are personally committed

(3) Asking students to look for relevant and meaningful resources themselves

(4) Finding a sense of balance between the academic and nurturing aspects of teaching

STYaTeHeR ST ¥ srearass i fren fefafea § 9 SF-4i 78 © 2

(1) TEhRIeHs, T-9YHal Ts 9 ey sHye 9% qgam

(2) forenfedl =1 39 S1vE & UEAH H H e A1 fomen Wi o SAfRed w9 9 giias @
(3) Terenfei =1 T grfies @iR) srdqel gamem e & fore e

(4) e & eforen oIk T 37 et Teqel & o9 UF Hqer w1 EA &1 9 I

Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
. 3, Option ID :- 235,
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. 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

An effective teacher :

(1) Manages her/his class well.

(2) Knows her/his subject well.

(3) Facilitates her/his students to learn on their own.
(4) Cares for her/his students.

T J9TEl 31T -
(1)  SToT herl =1 TSt T8 Hyrerd 81

(2) o9 T &1 wefifa e g

(3) Tornfe =t s diem H gerrn a2
(4) oo fomnffE o e T R

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61

Which one of the following is not an assessment strategy employed in constructivism ?
(1) Oral discussion
(2) Mind mapping
(3) Unit tests
(4)

4 Hands on activities

e ¥ fefafed § 9 fog siera a1 7=l 1o S € 2

(1) Hifes ==

(2) HAE A
(3) THE wdEm

(4) == A
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243
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Question ID:- 62

Which one of the following is correct ?
(1) Evaluation is a process of quantifying a given phenomena.
(2) Evaluation is a process by which information is obtained relative to a known objective.

(3) Evaluation refers to value judgement made on a phenomena based on both qualitative
and quantitative informations.

(4) Evaluation is a process of an adding grades based on certain tests.

freafafed § 4 #F-91 & Tl 82

(1) Heisha Ueh feu o uftgea 1 aftmm sam i e gfmn 2

(2) HeHiwA TF UiHA & foae 510 U 1 389 % Wi SHERI 9rE w1 S 8 )

(3) WA W SR IO, JA SRl W forer wees ot afiged ot weats frof o i
i T

(4) HHIHA Hiqed THE T AS S i Th G B |

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63

Which restriction will be of no avail in converting essay type into a restricted response items ?
(1) Length of response

(2) Content of response
(3) Duration of response
(4) Gravity of response

FH-9 yiasy F1 Feureas w9 &1 UE difd ST e w9H 5 9gad # FIE o e arm 2

(1) T H T=mE

(2) I A fomE-a%g

(3) SR = Efy

(4) 3T HI A9RAT
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

- 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64
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Which one of the following is an essential thing to be borne in mind while forming group of
students ?

(1) Possibility of immediate evaluation
(2) Possibility of systematic approach

(3) Possibility of free interaction
(4)

4)  Possibility of equal participation

TN 1 TF T 99 wud Fefafed 1 9 e sfvar o @ e v e aife ?
(1) TRl Hedich =i HHTeHT

(2) oHAfEYd IURTH o1 HHIEAT

(3) He UREHTGE foRA i HAEA

(4) HHF Fe9Ifirdr sl 9w
Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65

Which of the following information is not contained in the Unit Plan ?
(1) Major and Minor concepts dealt in the Unit

Total number of periods required, sub unit wise to teach the unit

2
(3) The method and strategies to be used sub unit wise
(4) Unit tests

TFTE A5 H HE-H SRR nfae T2 St 7 2

(1) E T it S2t 3R Bt Hehewmd

(2) THE T YgH % forw Su-htE SR e AiES w5 o den
(3) SU-ZHE AR WAN i W ared fafyr i HriHfd

(4) SR TlEm

Options:-

.1, Option ID :- 257,

« 2, Option ID :- 258,

. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257

Question ID:- 66
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Which one is not a basic quality of an active student ?

(1) Asking probing questions

(2) Developing ideas and questions in their mind before speaking
(3) Actively participating in all activities

(4) Frequently volunteering to contribute

U Wi o 1 ge fav frefatad § 3 e 7@ 3 €2
(1) T=adt 999 g&a

(2) dred | Eel 319 ferm | foRr SR ge e
(3) |l forenadi H Wisha ®9 H WA ol

(4) W R-9R w1 ¥ AeH 7 faw e

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

A teacher is analysing performance of students in qualitative terms as poor, sat—isfactory, average,
very good and excellent. Which tool she/he might be using ?

(1) Check list

(2) Rating scale
(3) Questionnaire
(4) Portfolio

TS HAATIF G, Hargse, 39d, 950 7= 3 Ik Sy UiTcHs veal | famnfei o = feaed
fargera % @ ¥ 9% foRe Sushn 1 9ErT R @ § 2

(2) ¥ wha

(3) gEAEE]

(4) dihifern
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68
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About Monograde teaching situation, which of the following statements is true ?
(1) There is high cooperation among children.

(2) The situation is mostly informal.

(3) Teacher domination is least.

(4) Variety of experiences of children is limited within their group.

Ueheiraltd e feafa & s #, Fefafaa § 9 Si9-91 F99 98 82
(1) faenfei & sifirer Tedm @ 2

(2) Teafq sifererior: et gt €1
(3) STEATISR 1 W HH Bl T
(4) Toenfei & smvEt =t fafaear s g0 % ofat difaa 2t 31

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

« 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

Which of the following statements is not true ?

(1)  Self assessment helps students to reflect on their own learning,

(2) Self assessment helps students develop skill in meta-cognition.

(3) Self assessment helps students to consolidate their learning through interaction.
(

4)  Self assessment helps students become independent.

Freafafad § § -9 FyF 98 76 87

(1) Ta-37eher BEI 1 396 @ % AR T gH Ser § T F: €|

(2) TE-3TFEA BEI I We-HM (Meta-Cognition) H #hiviel faefad i § Hemal %3 ¢
(3) T kel BEI 1 UREHE a1 3 Wemm § e1en ARty 1 gge S HErE e
(4) T e B I A FR S F HEwar e § |

2

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70
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If you find a student wearing some odd dress in your class, you will :
(1) Not pay any attention.

(2) Make a joke on her/him.

(3) Counsel her/him to wear school uniform instead of such dress.
(4) Ask the student not to attend the class.

Iife =rg faenedt staen! e | SFIE! UIeIeh UBH STl § ol 19 1 i 2
(1) 39 W =H T A

(2) SHH YSIH IS

(3) ST 3 UL UISM % TIF W The H JAEM TETRT A I FeATE oFl
(4) forenefi § wen | 7 3 * N

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT28FEBSH1
Question ID:- 71

Normally “Inclusive Education” refers to :
(1) Girl students

Adult Education

Divyangjan students

— i — —
= I 2
SUATE

Minorities Education

qra: garae foen’ = 1 g 2

(1)  =ferent fermelf

(2) g foren

(3) feearmer fammeit

(4) SACTHEAS] HI fa
Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 72
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What is “Mental Health’ ?

(1) Physical well being

(2) Cognitive, Behavioural and Emotional well being
(3) Mental well being

(4) Social well being

‘qrfees e’ = g ?

(1) IR &Y § e g

(2) AT, TR ST GTens &9 H &8y &l
(3) wHREE T F = EA

(4) G 9 F @WE e

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

Which one of the following is related to mental illness ?
(1) Radio therapy

(2) Chemo therapy
(3) Behavioural therapy
(4) Cognitive and Behavioural therapy

frefafed § | @ @ wEfas T 9 Hefd 8 2
(1) e S
(2) HIHE AT
(3) =HEERITE SRl
(4) HIATHF R e R
Options:-
.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74
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What is the advantage of ‘Community Centres” with regard to learning ?
(1) Socialisation

(2) Excitement

(3) Behavioural change

(4) Natural learning

AT o ey H Wi A § 2

(1) EETSHHLT

(2) ISl

(3) THTRHHF SEAA

(4) it sfrm
Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 1, Option ID : -293

Question ID:- 75

The mental disorder “Dyscalicula” is characterised by :
(1) Unable to read any book

(2) Unable to learn the simple concepts

(3) Unable to recognize the Numbers

(4) Unable to see Black Board

‘femrctispen’ s wfaes fasr w fadmm ©
(1) T 9%a% =i 9gq § oramed @

(2) HH AFYRONSA! 1 e H s @A
(3) EEmedl il YedH HA H EAY

(4) =i A1E H @A H EHYd @

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

- 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76
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What is “Micro Cephaly” in the context of Mental health ?
(1) Protruding tongue

(2) Small sized Head

(3) Large sized Head

(4) Protruding Eye Balls

gHfes @ & ey § rewifathet & o o7 § 2

(1) =X frepedt g8 Sty

(2) B IAFR H &

(3) e &R # fa

(4) @R Tsher U TETeh
Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
. 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

Which one of the following Programme is launched by Ministry of Education, Govt. of India,
to address mental health issues of children ?

(1) Atmanirbhar Bharat
(2) Deeksha

(3) Manodarpan

(4) Sahayog

SeTeh] o HATE @eed HaHl el o HHEE o fu fen Haed, YR HEER GRS Hl ShEEE IE
fepan T &2

(1) SN 9
(2) <ien
(3) HARYY
(4) HEAM
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78
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What should be the Quality of Professional Health Counsellor in schools ?
(1) Emotions

(2) Sympathy

(3) Apathy

(4) Empathy

Toremeri  URTeR TTEeA TWIHTIET | #4170 2 =1y ?

(1) He
(2) wegyfa
(3)  TEREE
(4) Wyl
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

The disorder ‘Autism’ is a kind of
(1) Physical disability

(2) Intellectual disability

(3) Visual disability

(4) Sensory disability

e e foer feas i yER § 7

(1) v ST
(2) @i STemERa
(3) aftedds e
(4) HeSl TSR
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 2, Option ID : -314

Question ID:- 80
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What is the advantage of Educational Counselling and Guidance in schools ?
(1) Shows direction to profession.

(2) Leads to academic excellence.
(3) It will boost confidence to take healthy decisions.
(4) Helps in getting Jobs.

Tormeri § Sifers sl o) 7rf e w1 e § 2

(1) =IeE = faen femmr 2

(2) ifaseh Sepeedl whi SR A ST g |

(3) = =y foig o o fere favara # afg #=a1 7
(4) TSR A H Gerre o |

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT28FEBSH1

Question ID:- 81

Which one of the following teachers is a good leader ?

(1) Mr. A" won teachers’ association election third time.

(2) Mr.'B helps all teachers in filling up their Income Tax returns.

(3) Mr./C' is able to convince all teachers to come in time to the school and teach regularly.
(4) Mr.D’ shares his lunch with every teacher.

e forerel § | 1 U =91 AgeEie & 2

(1) &t ‘31" srearaes 9iue = e e o S |

(2) ‘T’ oo |t fnerss Tferl o omIeRY WU WA H el & §

(3) &'\ T e Wiyl 1 e T W ST SR S T HEE H 9 @ § |
(4) ‘T woe e o T STuT SIS | #Rd € |

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82
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Which one of the following is a reflective teacher ?
(1) Mrs. P never discusses her personal issues with her students.

(2) Mrs. Q discusses many of her personal issues as examples to mould students” behaviour.
(3) Mrs. Ris fond of sharing anecdote from her D.ELEd. course.
(4)

Mrs. R constantly asks students to look at their parents’ tough life and advices them to study
properly.

e | 9 % 91w wEat (Roetfees) foees &2
(1) et ‘9" wefi off foenfiEl o iy s1oe safeTa geal @ =i 98 e |

(2) et ‘w ST s SAfwTd gee faenfei % sreer § uftadd @M ¥ 9 e ¥
(3) At ‘=" 7T 1.U.US HH % R |En F i 9ehE T
(4)

4) ooty eqe faenfeld 1 eaR 3 feradl it ian foeet 1 garel SE 3 o § UeH i
HeATE el Wt € |

Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83

Which one of the following teachers is able to get temporary success in changing students’
behaviour ?

(1) One who is very strict in his/her class.

(2) One who allows students to do whatever they like.

(3) One who discusses the pros and cons of unwanted behaviour of students.
(4) One who is punctual and speaks to the point in every class.

e o 9, s o e 1o ol o geRr o SR qitEd o H e @d § 2

(1) U 98 i 9 Fal H 1fd 561 W ¥ |

(2) UF g S fornfelEi 1 s wel we i erEfa S E |

(3) U FE S fomnfe & emifeq sqeer % o= oK O uel W ==l W ¥
(4) TF 9 S §HA F e ¢ AR UoHE A H 9 Aaed o ) 966 H
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84
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The errant behaviour of students can best be transformed by :

(1) Kkeeping a constant vigil on their activities.

(2) constantly making them aware of strict rules of the schools.
(3) constantly making them read books on moral values,

(4) having a continuous one to one open dialogue with them.

ferenfefaii & Ffeqol Sraer i forg e T S g & 2

(1) et fafaferl w T 3 e @ E F |

) SO ASFASF Fe ol F oo @ F |
3) 3% Had €9 ¥ Ao gl W I Ted wF |

4) Ik G HAd T9 Y Uh-UHh K Gell == W F |
Options:-

.1, Option ID :- 333,

« 2, Option ID :- 334,

« 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

Four primary school teachers have set their goals as follows. Who would you appreciate the
most ?

(1) Mr. Murli ensures cent percent attendance in class before starting teaching.

(2) Mr. Murugan, before starting teaching ensures that all students are sitting comfortably.
(3) Mrs. Dua ensures that all students come in proper school uniform in her class.

(4) Mrs. Mohanty ensures that all her students have come with their text books.

R ieifien el o SR 3 o wed < ford v o fruife faeg €1 e fordl warifues v #i02
(1) 4 qeeil 9gr & vee via-wfav sufkafa gffved & € |

(2) 4 gUT, 9o | qd YhfvEd e € fom wl fomnel wefi-ofifd s | o 2

(3) it gam Gifved st € o |elt forenelf sent @ # what &1 Sk 19T T8 R ST |

(4) il A= gHteea Fdr ¢ T |t famne st aes-geaes @ §

Options:-

.1, Option ID :- 337,

« 2, Option ID :- 338,

« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86
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Who should be consulted the most for developing a school plan ?
(1) The Headmaster

(2) The school management committee

(3) The staff members

(4) The students

TS Tl i Are faehfid & 8 foae! g ol =1fee 2
(1) WHTeATTH

(2) Thd yeHA Al
(3) E=IF % Gl HE=
(4) = B

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

Why Mrs.Banerjee, the primary school teacher failed in implementing school annual calendar ?
Choose the best option for school progress :

(1) There were too many holidays in the year.

(2) All other teachers were angry with him.

(3) She ignored the instructions of head master and school management committee
(4) She lost her grandmother this year.

diadt sl (e meafis o frees) e % aiftie Foiret Il aF] F H F srwe Wi 2
THe i W B FaaY S h1 FIF RIfIT :

(1) = H =gd s giga o

(2) @it foreren S SIgd TR 9 |

(3) 3R WIS UH Thel Yayd Al & Fes 1 Tor e R
(4) ZH T ITeh! SEY/AHI 1 <& 8l T

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88
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Which forum will you look for strengthening teaching learning process in your school ?
(1) Monthly in Service Training Workshops

(2) Teaching Staff Association

(3) Nearby Teacher Education College

(4) Parent Teacher Association

&9 Tpel | foreqon saferms itk &6l yare a9 &g o1 fohg W R gl o ?

(1) =fees Hamesret qieeor et
(2) Torarer wftog
(3) Trere = Torerer fonen wenferener
(4) sAfqsrere T wfufq

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89

The book “Diva Swapna” is to be read by all students of the school. Which mode you think will be
the best ?

(1) Each class teacher asks one of the students to read it to all.

(2) Each studentis given one copy and asked to read it in one week.
(3)  Each student is asked to go to the library in free period and read it.
(4) Read the book (5 pages each day) aloud in the morning assembly.

“foa @@= g%T ThA o 9 B 5K UE ST § 1 ST9eh STTHR S | el SataH arm 2
(1) U el 1 A fohel Ueh BTA I Faloh foTT 98+ i Hel |

(2) YU B Hl Tk 9fd & &1 S 3R 34 Uk B H 4G = el S|

(3) el FEAY H Yd® S i TREREE H S 9 T %al S|

(4) TEIF U= Y3 TS Wi Fies 91 H g S|

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90
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Two primary schools are being run in the same building. The best mode of coordination among
them can be :

(1) Both schools have one common headmaster.

(2) In case a teacher does not come in one class, the other school teacher comes and take the
class.

(3) Both schools prepare varied mid day meal each day and share it.
(4) Both schools share their teaching learning material.

e Bl fafedn § 3 et 9 W& | 39 QM| ° WH- I GalaH qlhl 1 8 Hhdl ¢ 2
(1) ST Shell 1 Uk & 9oH ST 2 |

(2) W wen H Al FE e 7 o O S A 1 ek e %a § 98|
(3) I Sha U fafve neare i sl i HE |

(4) Sl e 3Tt TR AnEl R e |

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Subject : PE_Q91-Q100_PRT28FEBSH1
Question ID:- 91

Which one of the following school activities have been able to achieve the objective of inclusive
education ?

(1) Sarva Shiksha Abhiyan

(2) Mid Day Meal by sitting together

(3) SC - ST recruitment special drive

(4) Obeying all orders from higher authorities

Tarafer foen & 29 1 @@ A A e § @ Fn-f wpelt fafafe gam @ 02
(1) wefen st

(2) HI-HY FSHL HEARE HISH HEAT

(3) sEyEd Sifd SR Sl o w9l s

(4) = AR & T el w1 e HE

Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362
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Question ID:- 92

The term ECCE stands for :

(1) Early Childhood Care and Education
(2) Early Child Care and Education

(3) Evaluation of Child Care Education
(4) Education of Child Care Enrichment

. Hi. 9. 5. (ECCE) &1 50 q9 9 8 :
(1) oIl =Eeegs FR TS USHYH

(2) 3Tl =IEee HIAL TS US[HIH

(3) TAYUIA 3 ARTS HI THIA

(4) TUSHIA % =ges A TH=HE
Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

Which one of the following forms the foundation of learning of children upto 8 years of age ?
(1) Proficiency in language

(2) Proficiency in elementary maths
(3) Basic literacy and numeracy
(4) Basic learning of social environment

IS 9 T & FTereh] & AR F g T | P s g ?
(1) T 9 g

(2) URFeER o H qreTar

(3) FfTaEl e AR s

(4) GreTTeR STaER S giEEl st
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94
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The idea of integrated learning implies that :

(1) Subject based teachers not to teach in primary classes

(2) The topic on ‘Water’ be taught from all angles : language, science, social science and maths
(3) Physics and chemistry should not be taught as seperate subjects

(4) Recruitment of teachers with specializations should be avoided

Tehighd AT & fo=ar 4 9o & & -

(1) st enstl | fawa snunfa fees 7 werd

(2) ‘o' o9 e g wHt o S g S - s, fagm, e fase qen i
(3) et SiX TP A i STE-STerT 7 g S

(4)  ToRrosar arel Toreresl =61 Wil 9§ =1 S

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

One good guiding principle of ensuring child rights can be :

(1) Treat child as God, teacher as worshipper and Teaching learning material as worshipping

style.
(2) Treat children of all social background as equal.

(3) Child is the father of man.
(4) The behaviour of each child can be moulded.

T iR HfvEa 39 # T e g = g 2

(1) == YR, AAE 1 (R AR frem siferm gmdt =1 qen &6t el A7
(2) | HETSF YRy % a= & WY T HEgR U |

(3) dTeTsh T W faan §

(4) HeH BT 1 FARR UHATd T S Hehell @ |

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

- 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96
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One best way to effectively teach children of lower social economic background can be :
(1) Appoint all teachers from low socio-economic background only.

(2) Make such children aware of their rights.

(3) Treat them as per democratic and constitutional provisions.

(4) Give such children scholarships and other benefits.

1 wrfsier enfefer Teyf % a=ai o1 Wt @ 9 99T ST 1 Uk HaH qleh 1 8 Tehdl § 2
(1) aa e grfss anfds gyl § o amel =1 @ e Fgga #31

(2) UH gl 39 ATTHR o6 I H F=d B |

(3) SR W1 YSICiRh Ud WAt 9 9 € STagr F |
(4) UH T ] THIGY q91 3771 &1 2 |

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

The idea of Operation Back Board (OBB) was given by :
(1) NEP - 2020

(2) NPE - 1986

(3) Kothari Commission

(4) Mudaliar Commission

ATEH &4 drs (OBB) =1 fgar farga fagmn?
(1) NEP - 2020
(2) NPE - 1986

(3) RISRI ST
(4) HETEH STEm
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98
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The idea of Shikshak Mitra got inspiration from whom ?

(1) NEP - 2020

(2) NPE - 1986

(3) Acharya Ram Murti Committee
(4)  Yashpal Committee

Toneyer Tt o feram =1 fepmrd Seom foedt ?
(1) NEP - 2020

(2) NPE-1986

(3) ormEd W ufd s

(4) FIUTE FHHE
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

The latest idea of curriculum is that :

(1) Curriculum includes academic, co-curricular and extra curricular activities
(2) Curriculum excludes extra curricular activities

(3) Curriculum excludes both co-curricular and extra curricular activities

(4) Curriculum excludes external examinations

qrE=reAl 1 T foER e ?

(1) TeT=r § STeHE, TTed-HemH 3R wresat nfafaferar e €1

(2) WS § yeeR fafafiat wine w8 ¥

(3) U=l § S, UTe-HeHT qe qiSRiat fdfareml e Tl ¥ |

(4) e | sl gdem i w9 €
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100
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At primary school stage learning, least emphasis can be given to :
(1) Attitude building

(2) Psychomotor activities

(3) Rote memory

(4) Knowledge

Trerfier Thell S WR W wed FY 9 e ) e s g § 2

(1) sfaf Fofo
(2) wAEIEE TiafafEEr
(3) &I
(4 FH
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Subject : HINDI_Q101-Q120_PRT28FEBSH1

Question ID:- 101

Frerfatiaa menyr st gt 3W °T 3MATRa U9H T I9Y e

HEUN 1 Wi o fore urs H g % sifafem oiiv fardt faviom =t stden 78 | W sHifed g0 U9 snen % g@
o1 S B & S A1 S SO HEg A1 Wi €1 31 S7edd e, YMiera 1 S 89 % R T #
ot = et €11 <01 €1 foredt oTaa =afer o1 et =11 Shearon G 9 EER ged H foRE W o TS % 35T
el BT | 58N Wehe & ok gudl o g W gl 2 w1 Fam g oAk © ST gEd w1 gl SEeRt Sil SIS Bl
2 IWHT A W RIS ST 71T TE A § SR SHH 7 IS T A7 UL EA T | W ZH ok @ & IREH | 51 5@
BIAl €, 98 H&0M, T4 37ifa T4 | TR =7l & |

o sTet % g@ 1 @K 79 G B € 2
(1) =N B9 gead =1 Haie & |

(2) TEMEEAR

(3) B ufagH &

(4) SNESHAR

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102
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Frerfataa menyr st gt 30 T M| 99H R 3% e

THEON ot Wi o fere am # g o sifafem it fardt fagrom =t stien =8 | v stifea &0 U9 et % 4@
o1 S B & S A1 9 SO e A1 WeiE €1 s1an o7efd ge, e 21 SiEam €9 % R HuTS #
ot =1 Teaenmdt 211 <0 & foRelt S1ar safert =1 ot 1 SheaTol g | SR 2ed H foRdt YRR & TE T 3ed
el BT | 58N Wehe & foh gudl o g@ W gl 2 w1 Fam g oATveR ¢ ST gEdl w1 Yl SEeRt Sil SIS B
B IHHRT A W RIS ST 7T TE I § SR IHH 7 IS T A1 UL B T | W GHU o @ o IRFH | 51 3@
BIdl 2, 98 &M, <A1 3ifa THi | TR Sl 2

st & 31 stean feasd & 9@ 9 29 1 SvE #R O § 2
(1) =@

(2) 3HE

(3) hitd

(4) 4“5l
Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

Frerfatiaa menyr st gt 3W °T 3MATRa U9H T I9Y e

HEUN 1 Wi o fore ur H g % sifafiem oiiw ot oo =t smden 780 | v sHifea g0 U9 s % g@
I ZEHR B § S A1 A SN g A Gl 21 e Sed e, Sitera A1 S B 6 R0 GHIS
s = feaerrdt 211 01 €1 Rt st =afemt =1 &y =11 ool A § R 259 ° fRE TR % TR 1 3T
e e | 3HH wehe © foh gEdl % g W gElt 2 T agd e © S qudl W g S S ST g
T IHHT T W RIS ST 71T T@ I T SR SHH 7 IS T A YT A T | W GHU ok @ o IRTH | S 5@
BIAl €, 98 He0N, T4 37ifa T4 H TR Sl &

I FgEAgE TN W fFEm g
(1) el

(2) =a9s

(3) =

(4 T
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104
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Frerfataa menyr st gt 30 T M| 99H R 3% e

THEON ot Wi o fere am # g o sifafem it fardt fagrom =t stien =8 | v stifea &0 U9 et % 4@
o1 S B & S A1 9 SO e A1 WeiE €1 s1an o7efd ge, e 21 SiEam €9 % R HuTS #
ot =1 Teaenmdt 211 <0 & foRelt S1ar safert =1 ot 1 SheaTol g | SR 2ed H foRdt YRR & TE T 3ed
el BT | 58N Wehe & foh gudl o g@ W gl 2 w1 Fam g oATveR ¢ ST gEdl w1 Yl SEeRt Sil SIS B
B IHHRT A W RIS ST 7T TE I § SR IHH 7 IS T A1 UL B T | W GHU o @ o IRFH | 51 3@
BIdl 2, 98 &M, <A1 3ifa THi | TR Sl 2

forgem st am 78 T T E?

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105

Frerfatiaa menyr st gt 3W °T 3MATRa U9H T I9Y e

HEUN 1 Wi o fore ur H g % sifafiem oiiw ot oo =t smden 780 | v sHifea g0 U9 s % g@
I ZEHR B § S A1 A SN g A Gl 21 e Sed e, Sitera A1 S B 6 R0 GHIS
s = feaerrdt 211 01 €1 Rt st =afemt =1 &y =11 ool A § R 259 ° fRE TR % TR 1 3T
e e | 3HH wehe © foh gEdl % g W gElt 2 T agd e © S qudl W g S S ST g
T IHHT T W RIS ST 71T T@ I T SR SHH 7 IS T A YT A T | W GHU ok @ o IRTH | S 5@
BIAl €, 98 He0N, T4 37ifa T4 H TR Sl &

Ferwrent =reom 1 g o7Tfe ATl | e S § 2
) Tl gare 1 A &5

) Terdlt =t e

(3) SHU % 3@ % YRS § U 3@ i

) YA AHG hl

Options:-

.1, Option ID :- 417,

« 2, Option ID :- 418,

. 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106
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‘I3 ores 1 qAEETH 8 ©

(1) Scua

(2) §d

(3) T4

(4) SeHS
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107

e e 3SR B
(1) FHYRE H9H
(2) TCYEY HHHE

(3) wgdlfe TuH
(4) 3for] wAE
Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

Frfafad wes-gril § qeam-agya 1 3T I § :

(1) 3 — 374
(2) &M - FHH
(3) W -

(4) A - 3T
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109
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Trefearfad | feetramef s i § o6 @ -
(1) 3IFR - GLIFR

(2) TIH - A

(3) TS - A=

(4) lfheh — 3Tcilfeheh

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

- 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

(1) =St - =g
(2) @ - TEt
(3) FHHER - 3N
(4) W - WeTel
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

Frefafes & = @ o w= 7= ¢
(1) sierss

(2) Far

(3)

(4) ==

Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112
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it 1 et g e w0 et § T o ¥

(1) =Tl

(2) e fafg

(3) HrEns

(4) IS 9D I BT
Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

Frefafad § § 9 € w1 Fer fasn & -
(1) fogt & ww

(2) T FAER

(3) TH HI HI Fadl

(4 dfefisnferd

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

‘T T A H 9 TR o T R w9 e e &2

(1) feea

(2) wIfS S

(3) TeTEl

(4) =N
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115
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‘e SR AT T et ®2

(1) =& 982

(2) @& SA

(3) I E T

() HPAR W
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,

- 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

‘g 1 feme’ o SR YX waET foR e fRE &1 ot <F b el 241 =ed 91 ?

(1) 9% U 5 & o0

(2) SR HZST &g B Sl i |
(3) = ST o

(4) =& gen fadst o

Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

‘T oS frae AR ?

(1)

(2 Hrs fawm
(3) et
(4) TR g
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118
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Frargy famdl § 9R foram & s o s o1 ?
() ™
(2 9=
(3) 9w
(4)
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
« 3, Option ID :- 471,

- 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

‘o191 ST M, 311d e,
S BHI H EeA |
el G T g
HeEeh | el el
1y —ferrl ford T | o TR ¥ 2
(1) foel iR el
(2) eTed g

(3) IAgA

(4) TET
Options:-

.1, Option ID :- 473,

« 2, Option ID :- 474,

. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

‘T8t foparel’ & MR W FaEY fR Ot 7 9 drE & fhde € O 98 e W i 82 Tt ?

O REGIERIHE

(2) Terama w2t eft

(3) Torcrel AR et

(4) Torama el off
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,
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. 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Subject : ENGLISH_Q121-Q140_PRT28FEBSH1
Question ID:- 121

Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali's household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. “The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he'd be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that's what chess is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He's asked for paan, has he ? Well, tell him to come and get
it himself! ‘He hasn’t got time for his dinner ? Then go and dump it on his head; he can eat it or
give it to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as ‘Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself. '

Which game is the narrator talking about ?

(1) Cards
(2) Billiards
(3) Chess
(4) Carrom
Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122
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Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali's household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. “The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he'd be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that's what chess is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He's asked for paan, has he ? Well, tell him to come and get
it himself! “He hasn’t got time for his dinner ? Then go and dump it on his head; he can eatit or
give it to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as “Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself. '

What was the response of Mirza Sajjad Ali’s family to his addiction to the game ?
(1) They hated it.

(2) They were indifferent to it.

(3) They welcomed it.
(4)

4) They admired it.

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123

Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali's household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. “The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he'd be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that's what chess is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He's asked for paan, has he ? Well, tell him to come and get
it himself! “He hasn’t got time for his dinner ? Then go and dump it on his head; he can eat it or
give it to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as “Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself. '

Who was being blamed for Mirza's addiction ?
(1) Beghum Sahiba

(2) The neighbours

(3) The servants

(4) Mirza’s friend Mir Roshan Ali




Join Telegram Group "HaryanaJobs.in"

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 124

Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali's household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. ‘The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he’d be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that's what chess is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. "He's asked for paan, has he ? Well, tell him to come and get
it himself! ‘He hasn’t got time for his dinner ? Then go and dump it on his head; he can eat it or
give it to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as “Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself. '

What do you mean by the expression ‘ill-omened” ?
(1) Likely to bring good times

(2) Likely to bring disaster

(3) A superstitious belief
(4)

4 A fortunate period

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
« 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125
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Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali’s household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza’s household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. “The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he'd be utterly useless to God or man, at
home or in the world! It's a dreadful sickness,that’s what chess is". Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He's asked for paan, has he ? Well, tell him to come and get
it himself! ‘He hasn't got time for his dinner ? Then go and dump it on his head; he can eatit or
give it to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as ‘Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself.

What impression do you get of the Nawabs and other rulers from the passage ?

(1) They were lazy and spineless.

(2) They ruled the State in a just manner.
(3) They respected the wishes of the people.
(4) They were admirers of the British Raj.

Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 1, Option ID : -497

Question ID:- 126

Rearrange the parts in correct order to make meaningful sentence.

(a) that English is

(b) itis widely agreed

(c) a foreign language in India
(d) no longer

(1) @), (b), (©) (d)

(2) (b, (a), (d), (c)

(3) () (d) (@), (b)

4 (@) (9 ®) ()

Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127
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Rearrange the parts in correct order to make meaningful sentence.
(a) most popular play in India

(b) the writer’s

(c) has always been

(d) Shakespeare’s “The Merchant of Venice’

(

(

(3

(

1
2

_—
&)
—
-
—
[

N-_I\_f\_/\_/
—

Q..

=

—_—

]
e

-
T o R

4

Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128

Fill in the blank with correct preposition.
Have trust God and you will feel happy and contented.
(1) for

with

@ I2
S

(2)
( in

(4) by
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

Fill in the blank with correct preposition.

The film star has been dining five-star hotels only.
(1) in

(2) at

(3) with

(4 for
Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514
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Question ID:- 130

Identify the correct tense form of the underlined part in the given sentence.

The officer will be on tour for a fortnight.

(1) Future Perfect Tense
(2) Simple Future Tense

(3) Future Continuous
(4) Simple Present Tense
Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the correct tense form of the underlined part in the given sentence.

In their journey by car, they haveleft the city far behind.

(1) Past Tense

(2) Past Perfect Tense

(3) Present Perfect Tense

(4) Present Tense
Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132

Identify the part which contains an error.
Spring is / the best season / to explored / new cities and locals

(1) (2) (3) (4)

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

Identify the part which contains an error.
The vocalist / is endowed of / a lot of / talent.

(1) (2) (3) (4)
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Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

« 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134

Choose the word nearest in meaning to the given word :
HOSTILITY

(1) Quarrel

(2) Hospitality

(3) Jealousy

(4) Resentment
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 4, Option ID : -536

Question ID:- 135

Choose the word nearest in meaning to the given word :
ELOQUENT

(1) Articulate

(2) Talkative

(3) Foolish

(4) Extrovert

Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
. 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537

Question ID:- 136

Choose the words opposite in meaning to the given words.
DESPAIR

(1) Aggression

(2) Hope

(3) Happiness

(4) Excitement

Options:-
.1, Option ID :- 541,
« 2, Option ID :- 542,
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. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542

Question ID:- 137

Choose the words opposite in meaning to the given words.
STATIONARY

(1) Fast

(2) Frozen

(3) Moving

(4) Swinging
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

« 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

Identify the part of speech of the underlined word.

The Sharmas lived in Delhi earlier, but now they are living in Mumbai.

(1) Noun

(2) Verb

(3) Pronoun

(4) Adjective
Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

- 4, Option ID :- 552,
Answer Given:- 2, Option ID : -550

Question ID:- 139

Change the following sentence from Active Voice to Passive Voice.
The lion is chasing the deer.

(1) The deer has been chased by the lion.

(2) The lion is being chased by the deer.

(3)  The deer is being chased by the lion.

(4) The deer is chased by the lion.
Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
. 3, Option ID :- 555,




Join Telegram Group "HaryanaJobs.in"

. 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Identify the clause of the underlined part of the sentence :
We all admire a politician who is honest.

(1) Noun Clause

(2) Adjective Clause
(3) Adverb Clause
(4) Principal Clause
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 4, Option ID : -560

Subject : MATHS_Q141-Q160_PRT28FEBSH1

Question ID:- 141

The difference between the largest and the smallest 5-digit numbers made of digits 2, 3, 5, 0 and
O

(1) 75071
(2) 74961
(3) 89999
(4) 92961

3l 2,3,5,0 3R 9§ a1 5 3i] &I g5 9 921 9 BRI U BT T F W T :

(1) 75071
(2) 74961
(3) 89999
(4) 92961
Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142
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The digit at units place in the product of first ten prime number is :

(h 0
2 2
(3) 3
(4) 5

Tl GH HYRH HEAIS 1 YU FH I YT HEAT § $hTE o M 9 3k ST

1 0
2 2
(3 3
4 3
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143

Which one of the following statement is not correct ?
(1)  All prime numbers are odd.
2

(2)
(3) The product of a number and its reciprocal is always 1.
(4)

Product of two odd numbers is always odd.

Sum of two odd numbers is always even.

Fedd s dF @ e ITe:
(1) | 3199 e favm £

(2) & foum emedl 1 rEe gde fauy 2ar

(3) Tore Hem o SHE SgoRH I U Hegl 1 B E |
(4) < faom gemsd %1 9m 9sa Ty o E)

Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144
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Three bells start ringing after interval of 20 minutes, 25 minutes and 40 minutes. They ring
simultaneously at 8 : 00 am. They will ring simultaneously again at :

(1) 9:00 am

(2) 10:00 am
(3) 11:20am
(4) 12:20 pm

aﬁtﬂ“ziﬁ‘zofhﬁz, 25 fAe 37X 40 992 & Siqua § geiil 21 T 91 9% 8 &9 Uid: 997l ¢ | 396 U9
7 TH | IS
(1) 09:00 am

(2) 10:00 am
(3) 11:20am
(4) 12:20 pm
Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

Write the largest 5 digit number which when divided by 469 leaves 3 as remainder :

(1) 99999
(2) 99900
(3) 99897
(4) 99800

wl

HFl H1 IS 9 ISt G fow formeht 469 T T 89X 3 919 1 ¢ |
99999
99900
99897
99800

—t

AP i SR A

9
3
4

— — — —

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146
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From a four djg_it number, a number formed by reversing the digits is subtracted. The new number
is always divisible by :

1 2
2 5
(3) 7
(4) 9

T IR 3! gt 9@ § 9, 39 fauia w9 § fog #:2 ard 9@ &1 921 ez 7 1 72 wra gen 5w g
(1)
(2)
3)
(4)

P ]
oSN Ul

Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

Read the pattern carefully and write the next two terms :
2.5, 10, 27; 26,37, __,

(1) 50, 65

(2) 48,60

(3) 55,63

(4) 50, 63

941 Yed &1 o 9 d 991 37T 2 18 ford -
2:5.10; 1%, 26, 37 ;
(1) 50, 65

(2) 48, 60

(3) 55, 63

(4) 50, 63

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148




Join Telegram Group "HaryanaJobs.in"

The amount of milk which can be stored in a cube of edge 2 m is :
(1) 1000 litres
(2) 2000 litres
(3) 4000 litres
(4) 8000 litres

2 HieX ®R % ¥4 § g¥ &1 9 (el ) SRR # 1 ud §, 9w T

(1) 1000 ferex
(2) 2000 ferex
(3) 4000 ferex
(4) 8000 fetex
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149

On simplification,

1-24+3—44+5—-6+7—-8+ +111, we get :
(1) 54

(2) 55

(3) 56

(4) 60

1 =043 =A+5—6+7—8+ +111, 1 I w0 W 99 2@ © ¢
(1) 54

(2) 55

3) 56

(4) 60

Options:-

.1, Option ID :- 593,
. 2, Option ID :- 594,
« 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150
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A bottle has 8.25 litres of medicines. It is to be filled in bottles of capacity 75 ml. The number of
small bottles which can be filled is :

1 11
(2) 110
(3) 125
(4) 1100

TU& diqel H 8.25 T 28 B 1 38 75 ml 87941 arell sidedl § O 511 © | Y8t T B1E1 Siiell i T8 T :

(1) 11
(2) 110
(3) 125
(4) 1100
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Question ID:- 151

Dimensions of a cubical shape room are increased by 10%. What % increase will be there in its
floor area :

(1) 10%
(2) 20%
(3) 21%
(4) 40%

e T TR & H9L 1 faard 10 % =1 &1 St 8 | 59 w9 o &ehe H oy gfaer =t gfg &t s 2

(1) 10%
(2) 20%
(3) 21%
(4) 40%
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152
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25 kg 5g in decimal can be written as :

(1) 255 kg
(2) 25.05 kg
(3) 25.005 kg
(4) 255.00 kg

25 foRedl 5 T =i e9Hed | forar 1 Hehdr 2 ¢

(1) 25.5 ferell I
(2) 25.05 fema 7=
(3) 25.005 fohelt umH
(4) 255.00 frel a™
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

The length of a rectangular hall is twice of its breadth. If the area of the hall is 338 sq. metre, then
its perimeter is :

(1) 39m
(2) 78 m
(3) 845 m
(4 96 m

TS AFAIHR Bl ol oFals S5 9ISk i gl ¢ Afe 8fd 1 &% 338 a1 HieX § a1 39 9fiam
2

(1) 39 #Hiex

(2) 78 HiX

(3) 845 HIe

(4) 96 HIEX
Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154
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I go to my school which is 5 km away from my home at a speed of 10 km/h and return home at the
speed of 15 km/h. What is my average speed ?

(1) 12 km/h

(2) 125 km/h
(3) 14 km/h
(4) 15 km/h

H oo faamer, St #R A 5 km ®t T W E, 10 km/h Tt 7fd F ST § 9901 15 km/h & 7fd & arfog
BRI g | W sfe f @

(1) 12 km/h
(2) 125 km/h
(3) 14 km/h
(4) 15 km/h
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155

In the following table two columns are given. Match column A with column B.

Column A Column B

(a) Acute angle i 90°

(b) Obtuse angle (i) 240°

(c) Right angle (iii) 30°

(d) Reflex angle (iv) 120°

(1) (@)-(i), (b)-(), (c)-(iv), (d)-(i)

(2)  (a)-(id), (b)-(iv), (¢)-(ii), (d)-(1)

3)  (@)-(), (b)-(iv), (c)-(), (d)-(i)

@) (@), 0)-(), ()-(H), (d)-(v)
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=1 anferent F <1 Wiy foq 7o § 1 WW A %1 WY B § fHer wife

wHY A WY B
(a) =T I @ 90°
(b) Aferes =T (i) 240°
(c) HHhMI (iii) 30°
(d) yfdadt i @(iv) 120°
(1) (@) - (i), (b) - (@), () - (iv), (d) - (ii)
(2)  (a) - (i), (b) - (iv), (¢) - (ii), (d) - (i)
(3)  (a)- (iii), (b) - (), (¢) - (1), (d) - (iD)
(4)  (a) - (i), (b) - (i), (¢) - (i), (d) - (iv)
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

4
In a school 5 of the students are boys and the rest are girls. If there are 450 girls in the school. The
total strength of the school is :

(1) 790
(2) 900
(3) 1000
(4) 1050

% fommem § famnfeldi 1 4/7 am e € qwn 9w vm wefEE # ¥ afe a5 gen 450 ® @

(1) 790
(2) 900
(3) 1000
(4) 1050

Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157
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A florist purchased 12 bunches of 15 flowers each for ¥ 540 and sold a flower for ¥ 5 each. His
profit is :

(1) T 540
2) T 600
(3) T 460
(4) T 360

T Fel el 7 15-15 Fedl a1, 12 =8 Fell bl T 540 § @il | T 35 T Bl o femm & &= fean)
ST A T

(1) T 540
(2 T 600
(3) T 460
(4) T 360
Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

« 4, Option ID :- 628,
Answer Given:- 4, Option ID : -628

Question ID:- 158

The number of bricks, which will be required to make a wall which is 8m long, 6m high and
22.5 cm thick if each brick measures 25 cm % 11.25 cm X 6 ecm s :

(1) 6200
(2) 6300
(3) 6400
(4) 6500

Sm'ﬁ'?!ﬁ, 6m%ﬁ°faﬂ122.5Lmﬁ1@ﬁé)ana=rﬁé:faq. 25 cm x 11.25 ¢m % 6 cm A9 a7t TSt 221 &t
SEYIHATEN, 98 #

(1) 6200
(2) 6300
(3) 6400
(4) 6500
Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

Question ID:- 159
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The number of triangles in the adjacent figure is :

(1) 8
(2) 12
(3) 14
(4) 16
(1) 8
(2) 12
(3) 14
(4) 16

Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,

« 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160

In going uphill it takes 2 hours 35 minutes. In coming down it takes 1 hour 25 minutes. I take rest
in between for 15 minutes. When should 1 start, if [ am to be back at the starting point by 2 PM ?
(1) 8:30 AM

(2) 9:30 AM

(3) 9:45 AM

(4 10:45AM
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TSl o U 9H H 2 ¥ 35 foe & rd €| e 39 | 1 9er 25 e @ ) ° &= | 15 e @ fagm
A1 3 | A T3 TR 2 I qF AR GG €, o Y3 TR It S TG ST I 2 2

(1) 08:30 AM

(2) 09:30 AM
(3) 09:45 AM
(4) 10:45 AM

Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Subject : EVS_Q161-Q180_PRT28FEBSH1

Question ID:- 161

Given below are two statements. One of them is labeled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below.

Assertion (A) : Never sleep in a room with burning or smouldering coal fire in it.

Reason (R) : Incomplete combustion leads to production of Carbon Monoxide gas, which may
lead to death of people sleeping in the room.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A)is false but (R) is true.

= €1 aaraer few T ¥ | U 1 SifieRe (A) 3R g 1 RWUT (R) el T € | S e e e & war
H HEl IW 1 FIA B

AfeReE (A) : 39w H 9 T 9rd e Sierd a1 HerTd A @S # |

N (R) : el 1 S7gl g, HeH HErstiEEs T ST (30E) AT § s R A W w®
el w1 e ot & TRt § |

(1) (A) 3R (R) SH & €, 3T (R), (A) i TEl =A@ FHam B

(2) (A) 3R (R) S 5t §, W (R), (A) FI TEl =0 78 = g
(3) (A) & 8 T (R) e @ |

(4) (A) TIeTd B, 9% (R) T B

Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
. 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162
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Match the following :

Column I Column II

a) Polythene (i) Thermosetting Plastic

b) Melamine (ii) Thermoplastic

¢) Polyester (iii) Polyethyleneterephthalate
Nylon (iv) Ropes for rock climbing

—

(@) ~(1),(b) (i), (0)-(iii). (d)-(iv)
(2) ~(i1), (b) (i), (0)-(iid), (d)-(iv)
(a) -(iv),(b) -(iid), (c)-(ii), (d)-(i)
(a) -(©)(b) -(iv), (c)-(ii), (d)-(iii)

e T SR S e B e T S
) o
—

&va

Frefafad =1 faam =i -
Hie - 1 e - 11
(a) ifere= () oEEfon wfes
(b) HeTHEA (i) FHEEH
(c) iferaEex (iii) defudichy Srweee
(d) -TEEAH (iv) F2Hl T TG i Tl w1 Fafm
(1) (@) (@), (b) -(i), (c)-(iii), (d)~(iv)
(2) (@) -(ii), (b) (1), (0)-(iii), (d)~(iv)
(3) (@) -(iv), (b) ~(iii), (c)~(ii), (d)-(0)
(4) (@) -@), (b) -(v), (c)-(ii), (d)-(iii)
Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
. 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163

Method of making milk free from microorganisms is called Pasteurisation because :
(1) It was invented in Prussia Country.

(2) Pasteurisation word has been taken from Persian language.

(3) This method was discovered by Braille Pasteur,
(4)

4 This method was discovered by Louis Pasteur.
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24 1 Yasial | Yo L I GRERA T e FEl S €, il
(1) 39 9fshan &1 oTfershi Tom <9 | g1 o)

(2) ISRl WIeg WRINEA (HICHY) Hrer 9§ foran wE an

(3) ZH UlshAT sl WISl sict 9=’ A foram o)

(4) 38 "lRA I WS g5 9eaT A R A1)

2

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

The name of the process of converting sugar into alcohol is :
(1) Nitrogen fixation

(2) Moulding

(3) Fermentation

(4) Infection

=T ! Teshiea H qRafdd 3 F 969 H1 A9 ¢ :
(1) =EeeH e

(2) e

(3) Temaa

(4) HemHU
Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165

Given below are two statements one of them is labeled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : The frequency of watering field is comparatively higher in summer season.
Reason (R) : It is due to the increased rate of evaporation of water from the soil and the leaves.
(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.
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¥ & e fou mu # | U ) ke (A) SR T F WO (R) FE1 TR 1S fau e e w5 gera
H TE W HFI FL

afuemeE (A) U Hg H Sl (wee) § 9 < i eafa sriemend sifue 2t 7
HTOT (R) - TheR] T ¢ Tied) ud ufedi § il argur s <X w1 At g
(1) (A) 3T (R) TF WET €, IR (R), (A) i T& =0T HTdl 2 |

(2) (A) 3R (R) I € € 9 (R), (A) FI T AR T FA R

(3) (A) @ g, W (R) T 1

(4) (A) TeId & 9] (R) &l 2

Options:-

.1, Option ID :- 657,

« 2, Option ID :- 658,

. 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

Plough contains a strong triangular iron strips. What is it called ?
(1) Beam

(2) Hoe

(3) Ploughshaft

(4) Ploughshare

& | e 1 e et Iedt ot arel €, S 9 Sl e & ?

(1) S

(2) FHare

(3) BA-IAR

(4) A
Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

« 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Which of the following is true about veins ?
(1) Tt carries oxygen rich blood.

(2) It carries blood from heart to all parts of the body.
(3) It has thick walls.

(4

It contains valves.




Join Telegram Group "HaryanaJobs.in"

e ® § - A foredl % Hey 8 w6 872

(1) 3 AISH T9E T T8 FH & |

(2) I T ol 729§ Rk Ha 9 H A Sl §
(3) et fafear Oet 2 €

(4) 3HH AR A I

2

Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

« 4, Option ID :- 668,
Answer Given:- 4, Option ID : -668

Question ID:- 168

Which of the following is true about top - soil ?
(1) Itis soft, porous and retains less water.

(2) It provides shelter to many living organisms such as worms and rodents.
(3) The roots of big plants are embedded entirely into it only.

(4) Itis usually light in colour and has a less amount of humus and minerals.

yitd-ger & R §, Fr= @ -1 FE I B2
(1) &% g, WY 3R 9 5 |re Jreft 2t 2
(2) I FE e o F v Fawl (ASTY) H AW YSH Fl T
(3) O URY I SIS Y 7 § 39 4wl E
(4) % WHMEG: B U7 1 991 20 &g0d IR @fsl i 0 FH a6l E

2

Options:-

.1, Option ID :- 669,
. 2, Option ID :- 670,
. 3, Option ID :- 671,

- 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169
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Below are two statements about tropical rainforests. Read them carefully and choose the correct
answer with the help of given options :

Statement (I) : They are highly suitable for supporting enormous number and a wide variety of
plants and animals.

Statement (II) : Because these forests have ample food and shelter for all the animals, therefore
there is no competition for either food or shelter.

(1) Both Statement (I) and (II) are true

(2) Both Statement (I) and (II) are false

(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

i someRfesitfia amfanl | S &1 %A fou mu €15 A | 1R oiR fou gu faswedl &t wemd ¥ W IW
T I |

HAT () : 3 o Tl & Sigedl &1 faener Sgen & siaanA & fag srefus sage 2

HIA (11) : =ik 270 oft el & o e ol se wge v # & 8, o6 5 wfaeasf =@ St 2
(1) <R (1) 3R (11) <1 98§ |

(2) YA (1) S () ST Tord )

(3) YA (1) T&I ¥, TG HYA (1) T B |

(4) HUT (1) T B, I HAT (1) Fel © |

Options:-

.1, Option ID :- 673,

« 2, Option ID :- 674,

. 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Following are the functions of Tongue. Choose the correct answer from the given options :
(A) Secreting saliva

(B) Converting sugar into starch
(C) Detecting taste

(1) (A)and (©

(2) (B)and (C)

(3) (A) and (B)

(4) Only (C)
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Sty o 7 = § 1 e g faeredl § 9 @) S R gAE

(A) @R fHeRTEm |

(B) WU I Hig H =g |
(C) ¥ Tl =T

< :

(1) (&) 3R (©

(2) (B) ¥R (O

(3) (A) %R (B)

(4 a4 (©)

Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

« 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171

Which of the following Venn diagram is appropriate to show human traits and abilities :

O O O O

Family = Environment Illness or old age Human
traits & abilities

- [Iness or
(2)  Family Environment @ old age

Human
traits & abilities
(3)  Family Environment

Human
traits & abilities

Illness or
old age

Family

(4) Illness or old age
Environment

Human
traits & abilities
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71§ 8 -9 S9-3eT@ H o T8I0 S &THdIs i Sieh YR H HefRid il § ?

O O O O

IiEr EIGIEE] Eiieiercr I EC I LR
grHaTd

(2) W@m O—»aﬁnﬁmw

WE&F’T@

qHeE A& T

SHRT AT FgraE

el a1 FeTEen

U AT T

=3

Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

How will you differentiate between a star and an artificial satellite in night sky ?
(1) By its twinkle

(2) By its speed

(3) By its shape

(4) By its colour
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g W & iR § Faari o) iy SwEl & o9 § o R R U ?
(1) 3 feafenm & gm

(2) ! TR % BT

(3) e R F FA

(4) 3F T1H gH
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

Suppose you are planning a mountaineering trip and you have to select a cloth (material) for the

ground and for a tent to be used for the trip. Which of the following materials will you choose for
your tent ?

(1)  Thick cotton sheet

) Thick woolen sheet

(3) Single layered plastic sheet
) Double layered plastic sheet

TFHeq] &1 T A9 U IR0 AT TR ST i A 5491 18§ SiR 7] a6 ¥ 5 W fase & fau ein
32 % fau Suge el (F9en) 1 A FE € | 3 e 1§ R wrndt o gee o 3 % faw &
(1) HIE H9H &1 ¥

(2) HrE A S

(3) U T8 A e e

(4) < TE ATl e e
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
. 3, Option ID :- 691,

« 4, Option ID :- 692,
Answer Given:- 4, Option ID : -692

Question ID:- 174

"Magh Bihu' is celebrated on the 14 and 15 of January. This is the festival of :

(1) Odisha

(2) Assam

(3) Madhya Pradesh
(4) Uttarakhand
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“oTe o, 14 3R 15 SEd 1 HAE S € | g9 TR T o @ A 7

(1) sfEm

(2) T9H

(3) W YW

(4) SHETS
Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

Boojho is a trader of Itr (Perfume) in Uttar Pradesh. To which district of Uttar Pradesh will
Boojho go to purchase Itr/Perfume ?

(1) Moradabad

(2) Kannauj
(3) Lucknow
(4) Meerut

T T Y H 35 AR T 3 33 @i A I gew o e e H sem ?

(1) HIEER
(2) S
(3) TETE:
(4 =@
Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698

Question ID:- 176

Below are two statements. Choose the correct answer :
Statement (I) : Old people are an important source to know about the past.

Statement (II) : The understanding that old people are an important source to know about the
past will encourage children to interact with them.

(1) Statement (I) and (II) both are true

(2) Statement (I) and Statement (II) both are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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e & e feu e § 1 3% o | v oiR feu gu fameul ® ¥ wEt S @ 9Ee i
/YT (I) : T SHM & 9L H T FHA P U Hewo g0l S g9 ¢ |

HYUA (I1) : 5T T g THEA S0 15 G GO S o 18§ Tl e 61 Teh e gl &1 € , a1 o gept
G a1 T o fore i @i

(1) =ReM (1) R (1) SH & €1

(2) TR (1) 2R (11) EF Tod B

(3) YA (1) TR ¥, T HYA (1) T 2 |
(4) HIT (1) T B, T R (1) Tl 2
Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
« 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Consider the following statement (s) and fill in the blanks with the help of code given below.
Statement : I have a sister. My sister is deaf. My sister can play the piano. She is
Code:

(1) Weird

(2) Special

(3) Desolate

(4) Inferior to me

Frfafad w9 T fo=ar & 3iR 7= fau T % =t ger@a 9 o @ &1 gid w0

TR} U g ¢ | B 98 g AR wehd | Bl S ol s wekdt € 1 6w 2
e :

(1) s&a

(2) el

(3) Tasia

(4) T HER

Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178
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Fill in the blanks of the following riddle with the use of appropriate word.
Somewhere it is dew
Somewhere it is snow,
Steam is also as you know
has forms so many,
that is what says my Nani
(1) Sunlight

(2) Air
(3) Wind
(4) Water

IUYE VEal 1 WA F TH Teall o Ra Tl ol gfd wifs

& g & 2
wwedH_ F
wHad! UHT A B |
() 9t Tl
(2) @@

(3) waA
(4)
Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

- 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179

Kudak is the language of Jharkhand. In Kudak, the word “Torang’ means :
(1) River

(2) Forest
(3) Song
(4) God

FSH AEUE HI VTN & | Fgh W H I 9 oAl ©

(1) =
2) e

(3) M

(4) ==
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Options:-

.1, Option ID :- 713,
« 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

Question ID:- 180

Now a days, the farmers use which of the following instruments to separate seeds from the cob ?
(1) Rotawaiter

(2) Thresher
(3) Cultivator
(4) Disk flask

TR foFEm 2T ) Tt 9 e @ et § 9 g 93 % 5w oo 3 £ 2

(1) e

(2) R

(3) whERIA

(4) Te=r weren
Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 2, Option ID : -718
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